EMF AND INTERNAL RESISTANCE
1.A cell in a deaf aid supplies a current of 2.5mA through a resistance of 400 ( . When the wearer turns up the volume the resistance is changed to 100( and the current rises to 6.0 mA . What is the emf and the internal resistance of the deaf aid cell?

2. Why do the headlights of a car dim when the starter motor is used?

3.A battery is connected in series with a variable resistor and an ammeter. When the resistance of the resistor is 10( the current is 2.0 A.However when the resistance is 5.0(the current increases to 3.8A. What is the emf and the internal resistance of the battery?

4.A student is provided with  ;

2 V cell , a lamp, a switch , a thermistor .

Draw a diagram showing the lamp in series with the cell  and explain why it lights immediately the switch is closed. Now explain why if the thermistor is connected in series with the lamp the lamp lights up slowly.

5. .A 12V 24W lamp and a fixed value resistor are connected in some way inside a box with two external connections. A student uses a variable power supply and puts an ammeter in series with the box. Here are her results;

P.D applied 
1.0 V

12 V

Current

1.17A
4.00A

I) Draw a circuit diagram of the likely arrangement inside the box giving your reasons

II) Use the 12V 4.00 A reading to deduce the value of the fixed resistor

III) What are the values of the lamp resistance for both readings.

